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R

Rgui.exe
R

>
Enter

CTRL C CTRL BREAK

R
X x R

R

Sys.setlocale

> Sys.setlocale("LC_TIME", "German")      # Für Windows 
> Sys.setlocale("LC_TIME", "de_DE.utf8")  # Für Linux 



install.packages
lmtest

install.packages("lmtest") R

library
library("lmtest")

lmtest

R

https://cran.r-project.org 

lmtest

setwd-

R
getwd()

> setwd("C:/Users/Mein-R-Ordner") 

R R

R

> 2*2+3 
[1] 7 
 
> 1+2+3-4 
[1] 2 
 
> (1/2)*(1/2) 
[1] 0.25 



R

0.9 0,9

R
R

R opti-
ons(digits) digits 10

9  

> options(digits=10) 
 
> pi 
[1] 3.141592654 

R
<- 

R

x y

> x<-2*2+3 
 
> y<-1+2+3-4 

> (x*y)/y+(log(x)-sqrt(y)) 
[1] 7.531697 
 

+ min() 

- max() 

/ abs() 

* sqrt() 

^ exp() 

%*% log() 



R

concatenate
c

> a<-c(1,2,3)    
> a 
[1] 1 2 3 
> b<-c(2,1,5)    
> b 
[1] 2 1 5 

R

a a^2 R

R R

> c(1,2,3,4,5,6,7,8,9,10)*c(1,2,1,2,1,2,1,2,1,2) 
[1]  1  4  3  8  5  12  7  16  9  20 

> c(1,2,3,4,5,6,7,8,9,10)*c(1,2) 
[1]  1  4  3  8  5  12  7  16  9  20 

R
m1

a b matrix
concatenate

> m1<-matrix(c(a,b),3)  
> m1 
     [,1] [,2] 
[1,]    1    2 
[2,]    2    1 
[3,]    3    5 



rep  > rep(5,5) 
[1] 5 5 5 5 5 
 

seq > seq(5) 
[1] 1 2 3 4 5 

numeric > numeric(5) 
[1] 0 0 0 0 0 

a:b > 1:5 
[1] 1 2 3 4 5

3×2 a b
R

colnames

> colnames(m1)<-c("Spalte a", "Spalte b") 
> m1 
     Spalte a Spalte b 
[1,]        1        2 
[2,]        2        1 
[3,]        3        5 

R

R dim m1 dim
3 2 3 2

m1

> m1+m1 
     [,1] [,2] 
[1,]    2    4 
[2,]    4    2 
[3,]    6   10 
> m1-m1 
 
     [,1] [,2] 
[1,]    0    0 
[2,]    0    0 
[3,]    0    0 



3×2
m1 2×2 m2

> m2<-matrix(c(1,2,3,4),2) 
 
> m1%*%m2 
     [,1] [,2] 
[1,]    5   11 
[2,]    4   10 
[3,]   13   29 

transpose
t

> m1 
     [,1] [,2] 
[1,]    1    2 
[2,]    2    1 
[3,]    3    5 
 
> t(m1) 
     [,1] [,2] [,3] 
[1,]    1    2    3 
[2,]    2    1    5 

3×2 2×3

R solve

m2

> solve(m2) 
     [,1] [,2] 
[1,]   -2  1.5 
[2,]    1 -0.5 

as.matrix
R

as.vector



R

for while repeat

For

for

> n<-3 
> for(i in 0:n) {print(i);} 
[1] 0 
[1] 1 
[1] 2 
[1] 3  

if for

if(i==2)
for

> for(i in 0:n) {if(i==2) print(i);} 
[1] 2 
 

while

> i<-1 
> while(i<3) {print(i); i=i+1} 
[1] 1 
[1] 2 

while i=i+1 
i<3

repeat
repeat

repeat

repeat
if



== x | y 

!= x & y 

< !x 

>  
 

<=  
 

>=  
 

repeat while
repeat

> i<-1 
> repeat {print(i); i=i+1; if(i==3){break}} 
[1] 1 
[1] 2 
 

if i==3
i=i+1 if

repeat

R
R function

function(Parameter){Anweisung}
x

y
z z

print

> myfunc<-function(x,y){z<-x+y; print(z)} 
 

myfunc

> myfunc(1,1)    # mit x=1, y=1 und z=x+y 
[1] 2 


